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Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section-A / Gvls—d

(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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What do you mean by Public Finance ? Explain its

principle of maximum social advantage theory.
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Discuss the Cambridge cash balances approach to the
quantity theory of money. How far is it superior to the
cash transactions approach ?
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Distinguish between Quantitative and Qualitative

methods of credit-control. Which are more effective in
an inflationary situation ?
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Discuss the Hucksher-Ohlin theory of international
trade. To what extent is it superior to the classical
theory of international trade.
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Section-B / Yis—4

(Short Answer Type Questions) / (75 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

qre :
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questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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What is Inflation ? Explain the main causes of
inflation.
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What are the functions of Central Bank ?
Do db B PR T E ?

What is inflationary gap ?

a1 TR 3RTel o 8 ?

Distinguish between Public finance and Private
finance.
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What do you understand by Public Expenditure ?
Ad T W 3T AT FHIA © 7

Discuss the advantages and disadvantages of
‘International Trade.’
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7. Define rate of exchange. What are the factors that
determine the rate of exchange ?
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8. Explain the characteristics of a good tax system.
U% ATB! IR Yullel! ! faRya aargd |
Section—-C / Gue—T[

(Objective Type Questions) / (@S T)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this section are compulsory.
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1. For the success of a low interest rate policy it is
essential to have a :
(@) Stable price level
(b) Low price level
(c) Highincome level
(d) Full employment
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Money stock includes :

(a) Post office saving and bank deposits
(b) Time deposits with bank

(c) Currency with public

(d) All of the above
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Which of the following is emphasised upon in the
income theory of value of money ?

(@) Aggregate consumption

(b) Aggregate investment

(c) Money supply

(d) All of the above
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In case saving is more than investment, the volume of
expenditure is :

(@ Increased
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(b) Reduced
(c) Constant

(d) Increased in the population of the excess of
saving over investment
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Bank borrows more than RBI when :
(@) Net liquidity ratio rises
(b) Net liquidity ratio falls
(c) Cash reserve ratio rises
(d) Cash reserve ratio falls
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Inequality of income can be measured by :
(@) Consumption schedule

(b) Lorenz curve

(c) Gini coefficient

(d) Both (b) and (c)
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Factor endowment trade theory is associated with :
(@) Harrod-Domar

(b) Karl Marx

(c) J.S.Mmill

(d) Hecksher-Ohlin

ST gl IR fIeelyor Hwfd @ -
(@) eS8

(@) el "™

@) . v e

(@) TRER sgler

Export promotion is a/an :

(@ Inward looking strategy

(b) Outward looking strategy

(c) Fiscal strategy

(d) Political strategy

frafa i & e
(@) sl oI
(@) dfedel worifa
ISR LRI
(@) roFIfad Rorfa

P.T.O.



[8] BAEC-302/EC-06

9. The gold standard exchange rate system prevailed :

(a) Between 1860 and 1910

(b) Between 1910 and 1939

(c) Between 1880 and 1914

(d) Between 1914 and 1939

W i R yorelt faem <@
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10. The theory or approach that stresses the role of trade or
the flow of goods and services in the determination of
exchange rate is known as :

(a) Elasticity approach

(b) Trade creation approach

(c) Capital flows approach

(d) Balance of payments approach
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